1760

492

..n!;;;l
]
..:xi;gi
\
5

427

28

492

B B

/
\\

28

2210

492

1399
#
-

2
.-ul;;;l
/ |

28

492

4 4
19
i
55

‘158

—
h
BE—
B
[+

i A
W

1760

(530) TaN
i ) 15 [ a-3-g++rv7 [seMcc] 4 [t1,ommry+ER
ﬂ 14 | 7yn—~x-2 (E)[seMHC] 2 [t2. 3%y +aER
i 13 | 7yh—~x=2(P)[seMHC] 1 [t2. 3%k
12| T # [SGMHC| 1 [t1.6%Ay¥ER
11 [# £ X % w|SGMCC| 1 |t1.O%EAYFER
10 | & B [SGMCC| 1| |[t!1.0%Xy+8iR
g |& R [seMcc| 1 [t1.0%@xyFER
S 7 |a-+-—@®% [seMHC| 4 [t1.6%xy+ER
S 6 [ NxWM(182T7)[SGMCC| 8 |tl.O%EAyFEIR
o 5 [nzw(1554)[samcc] 4 [t1.0%Ay+8ER
" 4 |543-JL-+|PE 7 |t6.08aRUIFLY
3 [7un—~-2(A)sGMHC| 4 [t2.3%mxy+ER
2 |t # |[SGMCC| 2 |t1.0%8AyF#ER
1 |2 - 3 - glseMcc| 4 [t1.0%mAv+ER
| : F AN 2 EBEIGBB[Z 3
hi +| SZAM-980 (B%) 2 |szau-9308
U_/ ERTRAA OB 15T (GOD4ASRKR) Bl 120 |8 mm |B 4% |¥]mn |8 20010108
RRVBORITAT, BRULZHORBONCET [ -
| BERUBH22 (€ §E 0TI




2233

208 1817 208
908.5 908.5

[e6] 06

o (@)

Qad [V

o

=

N~
ad O
g )
m (e))

gV}

~—

=

a6 (06)]

o O

QaJ QJ

N KA FCE
Akk*%
_#1B.5 /o

O H (@] L0
(6]} [e0] —
m i
——-—-lrl—-—& ———————————— NN T T T T T W
o \ogr \avou- o T T2 & t &30t 1 el mas
0 M~ EEE ARERANELE E
=
Ei1TER .| STAM-980 (3%) #ii® ¢ | Sza-saozss|
R 3 1 ] E
B 1/15 [BH NI G| mm s 2001.10.30
= =] ) S 27900 Noa A = S i E BOL ﬁ K
A2, AUBOMHETHY, U RBSRORLLRII S0OTUBELA |1y (&) 3 eI




	SZAM-980竪_A
	SZAM-980竪_B

